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Correct Option selected Wrong Option selected or Not Answered Correct Option

IQ.NO: 1 Recently which anticoagulant rodenticide have been introduced for the control of both agricultural and commensal rodent pests T 9§ PR R e B R 5 ! B Bl 5 Ry @ W e S du e 3

in India.
| A Macein =i
B Racuein W
|C Racemin ™
D Racumin T
| Q.No: 2| Which one of the following is an effective way of conserving water? Frofafia # & @57 oa weo & g guE ol 87
(A Increase food waste wr vl % waidl "
B Eat less animal product TH UY] 39T Gl
[+ Decontamination process during filtration Frete ¥ v afeitas wlisar
|D Boil water ot FareE
| Q.No: 3| Which nematicides is Non-fumigant in nature and have low volatility and diffuse through the soil- T W TS WEi H IR-TEE § 3N T F SRR € HR ge & A | e g
A Aldicarb and Phorate TR AN Bie
B Nemagon Eeiicy
|c Ethoprop Ll
| D Oxamyl it
|Q.No: 4 The regulated market have been established by fafraftm wmar e grr =l R wm 82
A District Municipal Corporation forem 7w formm
! B Panchayats T
c State government I TS
D Central government g T
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‘Q.No: 5 gllTJ;Z:hle[:t:hn:: ;:Or;'(:: ier:ii‘;:ltci;z:ﬂs:trsay pattern in which liquid is forced to come out as a flat fan shaped T e e R T f e & R T O T U 3 R 3 T w0 A AR R & R e R o ¥ R A Hga
A Adjustable fan nozzles TSweTd e Ao
B Fan type nozzle B HELS e

| e Solid cone nozzle B9 T A

|D Floodjet nozzles Fasve o

‘Q.Na: 6 The most common non-anticoagulant baits which kills rodents by shutting down their ability to produce energy within the cells of 5 am ik- 1eft T o TR 9 e & iR et e T Frd7 T S z

the body
A methane
B bromethalin
|c bromus
] bromgrass

Wi
AR
s
wr

‘Q.No: 7 ‘Which famine occurred in Mizoram during year 1959, This event is followed invariably by a plague of black rats and is called rat af 1950 % SR MR § S § T T8, 75 Ve & A g s il 1 v g TRl T AT o Y

flood 7
A Upper Doab
B Skull
| Chalisa
D Mautam

IQ.NO: 8 Seed rate recommended for pearl millet is

A 4 kg/ha
B 15 kg/ha
|C 10 kg/ha
D 2 kg/ha

|Q.N0: 9 Agitators are needed to agitate the liguid of the tank at which rotating speed in a power sprayer?
A 100-200 rev/min

B 40-50 rev/min
|c $0-100 rev/min
|D 600-700 rev/min

‘Q'NO: 10 is mainly used in air craft spraying
|A Foam Spraying

| B Low Volume Spray

C ULV spraying

D High volume spray

SR gl
SEE(TuTe)
GG f
g

Ty B A & forg e we @ Sugm R @
4 fFm /g
15 frm/Rm
10 Ry dmax
2 /g

U U B H ¥ ¥ o o B R @ gee R ot o) sreeme d 82
100-200 Ya/fire

40-50 Ya 7 foFe

90-100 %9 / firFre

600-700 Ya/firTe

What type of spraying used in plant protection operation in which total volume of liquid applied amounts to a few ml per acre and | 1% & WEeH # 5 TR F Rrg@ &1 SUAr fFm w0 & 0 w91 30 79 T fiel 7 ts ol & SR g 08

forgama ® gudin 3 o 2
v fogea

| AT fygoa

querdt g

= wm o
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|Q.no: 11
A
B
|C
|D

| Q.No: 12
[A
B
le
D

|Q.No: 13
A
B
[

|D

|Q.No: 14
A
B
C
|D

|Q.No: 15
A
B
le
D

Q.MNo: 16

A

Which industry needed water in large amounts during the production process?
Brewery and carbonated beverage industries

Garment and textile industries

Software industries

Petroleum industries

The state financial corporation in the State bank of India gives assistance especially to
Large-scale Industries

Medium and Small-scale Industries

Cottage Industry

Agricultural Farms

Sweetest variety of mango
Alphonso

Chausa

Langra

Deshehari

Hybrid sorghum more suitable under mixed cropping is
CSH 6
CSH 2
CSH7
CSH1

What is the rank of India in terms of water availability per person p,s in the world is
11ith
133rd
132nd
131st

The example of agriculture price support program is?
1. A price ceiling

11. A price floor

I1I. Equilibrium pricing

Only III
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|B only I Faa T

c Only I FEa I

D All I, IT and IIT waat 1,11 off¥ 111

|Q.No: 17
A
B
[
D

| Q.No: 18
A
|B
le
D

D

| Q.No: 20
|A
B
c
|p

|Q.No: 21
A
B
1€
D

|Q.No: 22
|A
B
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Who won the Magsaysay Award in 2001 and Stockhelm Water Prize in 2015 from India for water conservation ?

Rajendra Prasad
Rajendra Singh
Vipin Singh

Rajendra Khurana

Sleepiness is associated with the flower of
Carnation

Rose

Tulip

Gladiolus

When the Royal Commission on Agriculture was setup?
1928
1929
1991
1995

Generally seedless watermelon s
Tetraploid

Triploid

Diploid

Hexaploidy

The state having the maximum area and production of pearl millet is
Rajasthan

Madhya Pradesh

Uttar Pradesh

Andhra Pradesh

Indian institute of sugarcane research is located at:
New Delhi
Ahmedabad

e T 3 g uE & 2001 # AT TR SR 2015 # wietm o e e s

HEERnI
in Riw
fafim Rig
REEREE)

T

it e mmel i (W ey 9w e @ nd o

1928
1929
1991
1995
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|Q.No: 24
A
|8
|
D

|Q.No: 25
|A
B
lc

[Q.Mo: 26
| A
B
|c
D

| Q.No: 27
A
B
|C
D

Q.No: 28
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Thane

Lucknow

Lye peeling is done in peach through the
NaOH

KH.PO,

Ethylene

Nacl

Which rodent killing agent registered by the U.S. Environmental Protection Agency (EPA) in 19847
Phusphides

Racumin

Warfarin

Bromethalin

The first National Water Policy was adopted in which year and was reviewed and updated in 2002 and later in 2012.

September 2001
September, 1977
September, 1997

September, 1987

Which crop among the following is termed as ‘Golden Gram'
Cowpea

Greengram

Blackgram

Bengalgram

Myearrhiza mainly helps in the uptake of

P
K

o

Ca

National income is also known as:

I. Gross national income at factor price

11. Net national income at factor price
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|

| A
|B
C
D

| Q.No: 29
|A
B
[
D

|Q.No: 30
[A
B
lc
D

|Q.No: 31
|A
B
|c
|D

| Q.No: 32
| A
|B
|C
D

|Q.No: 33
A
B
le
D

|Q.No: 34
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III. Net national income at market price
All I, IT and ITT

Only III

Only I

Only I

Which test should be checked weekly if old stocks of malathion are used by the person handling pesticides
alanine aminotransferase

Blood cholinesterase activity
Alkaline phosphatase

aspartate aminotransferase

Who Is known as “waterman of India®
Fateh Singh

Rajendra Singh

B.H.Vchra

H.Khurana

Minimum support prices for major agricultural products are fixed by government
In middle of crop period

Before start of sowing seascen

After harvesting

After sowing

What are the benefits of rainwater storage
Can start water activity

Maintain soil fertility

Reduce the scarcity of water in forest
Recharging ground water level

Product are at the maximum for a farm business when output is at a level where ______
MR=AR

MC = AC

MR = AC

MC = MR

Which option is not mentioned in a firm’s balance sheet?
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|
B

Q.No: 37

B
|c

|Q.No: 38

|€
D

| Q.No: 39
| A
|B
|
D
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Value of stocks of raw materials held Answer:
Revenue from sales of the company's products
Total issued capital

Cash held at the bank

Who first time reported wheat gall disease which is associated with nematode Anguina tritici in 1743 AD ?

Kuhn
Rosa John
Needham

Muller

What is used for transplanting seedlings.
Trowel

Showel

Sickle

Disc harrow

Al present exercise duty is also known as:
I. Value added tax (VAT)

II. Ad Valorem tax

II1. Central WAT

Only III

Only II

All I, IT and III

Only I

In which year did Rat Control begin in India
1919
1950
1955
1925

Optimum nitrogen required for hybrid and compaosite maize
100kg/ha and 60 kg/ha respectively
60kg/ha and 100 kg/ha respectively
80kg/ha and 120 kg/ha respectively
120kg/ha and 80 kg/ha respectively
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| Q.No: 40 Vivipary associated to fafamrdt e e & Wl 32
A Grape Fruit Elycd
B Cherry =
|c Plum STERT
|D Avocado waETEr
iQ.No: 41 Rapid propagation technique is done in dta war aele w1 gudn R B e e
A Pepper writ ol
|B Betel vine T & 59
| C Strawberry w=iad
D Date palm R
|Q.No: 42 The seed rate of desi variety of gram is = ot et e % g i SRm @l sr s 2
A 25 - 30 kg/ha 25 - 30 fEm/eRT
|B 125 - 150 kg/ha 125 - 150 fFar/dRm
c 50 - 75 kg/ha 50 - 75 fm/gam
o 75 - 100 kg/ha 75 - 100 fFm/de

| Q.No: 43 In the semi-arid and arid regions of Rajasthan, particularly in Bikaner, Phalodi and Barmer, where was drinking water stored? | o & anf-37sp o S 41 8, fadiwe dier, vl iR arg i & 3 % arft 1 sierm s o wmn e

| A Small village pond | wria @ Bt aremE

B Wells e

C Underground tanks or tankas th!ﬂ

| D Rooftop tanks | =pely &7

|Q.No: 44 Water is available in abundance in many cities, so what are the other factors of water scarcity? ¢ wgdl  grd v e 1 guas 2, @ el @t @l & I e o §-
|A Using to water unlimitedly Eekafinoenin

B Default in technical areas et 41 7 9%

|€ Lack of infrastructure for proper distribution Sfera oo & ferg gfarel 2 <5t wdt

D Unequal distribution of water WA FT AT Raor

|Q.No: 45 Because of rats what fraction of the world's food supply never reaches the table ? T # g & 3R 1 e el #1 e feww it B W R vgEa
A 3/4 3/4

B 1/2 1/2

C 1/5 1/5

D 2/5 2/5
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|Q.ND: 46  Which transgenic crops are having genes of smoother crops, pest and herbicide resistance against horm worm larvae

|a
B
|c
D

|Q.No: 47
A
B
le
D

|Q.No: 48

|Q.No: 50
|A
B
c
1)

|Q.No: 51
A
B
C
D
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potato
Tobacco
Sugarcane

Tomato

A knapsack sprayer consist of handheld nozzle, a man can spray over the area of about
0.4 ha per day

2 ha per day

0.25 ha per day

1.75 ha per day

The assets that can be easily converted into cash within a short period, i.e., 1 year or less are known as
Fixed assets

Intangible assets

Investments

Current assets

Which among the following is the leading state in the production and area of arhar or pigeon pea
Karnataka

Uttar Pradesh

Madhya Pradesh

Maharashtra

Which one of the chemicals kill rats instantly
Metal phosphides

Carbonyl Flue

carbon monoxide

carbuncle

Indian institute of spices research Is located at
Andhra Pradesh

Karnatka

Kerala

Tamil nadu
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| Q.No: 52
A
B
|
D

|Q.No: 53

|Q.No: 54

|Q.No: 55
|A

|c
>}

|Q.No: 56

|C
D

|Q.No: 57
A
B
lc
D
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Which type of maize is an early maturing one
Flint corn
Flour corn
Dent corn

Pop corn

Long term assets having no physical existence but, possessing a value are called -

Investments
Intangible assets
Fixed assets

Current assets

Inflorescence of grape is
Recemose

fascicle

Corymb

Panicle

Self incompatibility is major problem in
Banana
Loquat
Papaya

Guava

Response of dwarf wheat varieties to application of every kg of N is
10 - 20 kg of grains

35 - 40 kg of grains

5 - 10 kg grains

20 - 25 kg of grains

Soft rot of potato s
Nutritional Deficiency
Bacterial Disease
Viral Disease

Fungal Disease
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|Q.No: 58
A
B
|c
|D

|Q.No: 59
|A
|B
|

|Q.No: 60

|Q.No: &

iy

|Q.No: 62

Q.No: 63
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The instrument used for measuring humidity is
Hydrometer

Hygrometer

Altimeter

Barometer

“Capitalism” refers to?

The use of market

Private ownership of homes & cars
Government ownership of capital Option

Private ownership of capital goods

An area of land that drain all the streams and rainfall to a common outlet-
Water pumping

Rainwater harvesting

Watershed

Water cycle

Deficiency symptom of nitrogen occurs at
Upper leaf

Lower leaf

Root

Stem

Barkha is a variety of
Greengram
Cowpea

Pigeonpea

Blackgram

A farmer having less than one hectare of irrigated land, is known as:

I. Small farmers
II. Marginal farmers

111. Big farmers
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(A
B
|c
|p

|Q.No: 64
|A
|B
c
D

Q.Mo: 65

| Q.No: 66
A
B
C
|p

|Q.No: 67
A
|B
|C
D

|Q.No: 68
(A
B
lc
|D
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Only I

Only II

Only III

All I, 1T and ITT

Little leaf of brinjal is caused due to
Virus

Fungus

Mycoplasama

Bacteria

Co-operative farming, Collective farming, Capitalistic farming, State farming and Peasant farming are:

I. Types of farming
11. System of farming
Only I

Both I and II
Neither I nor I1
Only IT

Mame the NGO runs by Rajendra Singh which was founded in 1975,

Arun Bharat Sangh
Bhagat Bharat Sangh
Tarun Bharat Sangh
Varun Bharat Sangh

Bearing habit of guava Is
Auxillary

Terminal

Mixed

Lateral

Which country receives highest rainfall in the world?
UK

Columbia

India

China
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|Q.No: 69
A
|B
lc
D

‘Q.No: 70

A
B
|c

|D

Q.No: 71

|Q.No: 72

‘Q.No: 73
A
|B
C
D

|Q.No: 74

Mast suitable time of sowing sorghum in North India is
June last week

July Last Week
June 1% week

July 15t week

Which pesticides that kill rodents, including mice and rats and are often formulated as baits with attractive substances like
peanut butter or molasses.

Rodanni
Rodenticides
carbuncle

Racemin

If REI reduces the cash reserve ratio, the credit creation will:

I. No impact

II. Decrease

III. Increase
Only I

Only III

All I, IT and III
Only I

*Rani-ki-Vav' stepwell which is one of the UNESCO World heritage since 2014 is located on the bank of which river and place.
Tista River, kalimpong, Sikkim

Ganga river, Rishikesh, Uttrakhand

Saraswati river, Patan, Gujarat

Krishna river, Hubli,Karnataka

What is rate of the spinning disc attached to the motor, having grooves or teeth and rotates at a very high revolution per
minute in Ultra low volume sprayer

500-1000
10000-15000
4000-9000
7000-10000

Basic fundamental law of agriculture is:
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(A
B
¢
D

Q.No: 75

lc
D

| Q.MNo: 76
| A
B
C
D

|Q.No: 77

B
|c

|Q.No: 78
A

|€
D

| Q.No: 79
A
|B
lc
[p
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Law of demand and supply
Law of diminishing return
Law of substitution

Law of equimarginal return

What is the main cause of exports surplus?

1. Country’s stringent import policy

IL. Developments in national and international markets
1II. Country's exports promotion value

Only II

Only III

Only I

All I, I and III

Mipping in chickpea is done at
50 - 60 Days After Sowing
30 - 40 Days After Sowing
10 - 15 Days After Sowing

25 - 30 Days After Sowing

Which soil group is predominant in kerela
Saline hydromorphic soil

Coastal alluvium

Red loam soil

Laterite soil

The reason why people should implement rainwater harvesting is?

To maintain hygiene
In order to use during scarcity of water
To pour the rain water directly to the sewage

Collecting rainwater is law

Collection of rainwater for use can be done by which method.
Rainwater harvesting

Rain water pumping

Deluge collection

Rain digging
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| Q.No: 80
| A
B
|
D

|Q.No: 81
A
B
C

D

|Q.No: 82

|Q.No: 83

Q.No: 84

A
|B
|

)

| Q.No: 85
A
B
c

|D

Ideal soil texture for plant growth is
Silty

Sandy

Clayey

Loamy

The central co-operative banks are directly associated with
State Co-operative Banks

Central Government

Farmers

Land Development Banks

A khadin is also called dhora is an ingenious construction designed to harvest

Grey water
Under rock water
Surface runoff water

Sub surface water

Rainfall is generally measured in India at ____.
8:30 am
2:00 pm
7:00 am
8:00 am

Which plan was implemented in April, 1993 under the banner- "Yamuna ko Swachha bnana hai, hum szb ko haath batana hai®
aims at cleaning and conserving water of the river Yamuna by removing pollutants from it.

Yamuna Action Plan (YAP)
Yamuna Active Plan (YAP)
Yamuna swachha Plan (YSP)
Yamuna Aadhaar Plan (YAP)

Storage temperature of brinjal is
10-11°C

7-8C

5-6°C

13-14°C
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| Q.No: 86
[
|B
C
|D

|Q.No: 87
|a
|B
le

D

Q.Nog: B8

A
|B
lc
|D

|Q.No: 89
| A
B
|c
D

|Q.No: 90

|Q.No: 81
A
|B
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Wolf apple is the Common name of
Potatao

Brinjal

Tomato

Chilli

Days required for initiation of crown roots in Mexican dwarf wheat is
26 - 30
15- 20
31-35
21-25

An interest bearing deposit which normally can be withdrawn by the depositor at any tima?
1. Saving deposit

I1. Capital deposits

111. Fixed deposit

Only I

Only III

All I, IT and III

Only II

Diffarence between the highest and the lowest temperature of the day is called
Diurnal temperature variation

Diurnal range

Daily Mean Temperature

Temperature Lag period

Who was working with rust of flax and discovered the gene-for-gene ralationship of disease resistance and susceptibility in 1946

Flor
Muller
Kunan

Davidson

Water conserving system in India are used from ancient times, Khadins method is used in which state

Punjab

Tamil nadu
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C
|D

|Q.No: 92
(A
B

|p

|Q.No: 94
(A
B
c
|D

|Q.No: 95
A
B
|c

Rajasthan

Assam

Which of the vegetable crop is C4 plant?
Potato

Bean

Carrot

Amaranthus

Untreated household water which does not come in contact with toilet waste can be used for various purposes is called
White water

Grey water

Black water

Brown water

The optimum temperature for the attack of foot rot , which is a severe disease of papaya, (Pythium aphanidermatum)
28°C
21°C
36°C
20°C

The first complete Indian Bank was astablished in the year.
1902
1894
1754
1896

Rodents include rats different species, pesticides that kill rodents is called
Rodentials

Genocides

Rodenticides

Insecticides

The arhar ICPL varieties were developed at
BHU, Varanasi
ICRISAT, Hyderabad
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lc IARI, New Delhi 1ARI, 7€ feweh
) TNAU, Coimbatore TNAU, TREET

iQ.No: G8 Most critical stage of irrigation in pearl millet is

A Flowering stage
| B Vegetative stage
IC Maturity

D Earhead emergence

| Q.No: 99 Wet and dry bulb thermometer is used to measure

A Saolar radiation
B Humidity
| G Temperature
D Relative humidity

|Q.No: 100 First state in India where rainwater harvesting system is compulsory in all the houses

I A Haryana

B Tamil Nadu
lc Bihar

D Rajasthan

iQ.No: 101 Wheo is the Author of the book "The Exam warrior” 7

|A Hamid Ansari

|B M. Venkaiah Naidu
[+ Narendra Modi

|D Ram Nath Kovind

|Q.No: 102 When was the 3t Ministerial "No Meney for Terror" conference held in New Delhi in 20227

A 19-20 September
B 18-19 October

C 18-19 November

b 20-21 December

Q.No: 103 Von Miller is associated with which of the following games?

I A Tennis
B American Football
|C Basketball
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|D

| Q.No:
A
|B
|C
D

104

105

+ 106

1 107

108

109

Baseball

Who has been recently appointed as the RAW (Research and Analysis Wing) chief in June 20197
Arvind Kumar

Samant Goel

Rajiv Jain

Anil Dhasmana

Which Indian state has the highest per capita income?
Delhi

Haryana

Maharashtra

Goa

Which of the following is known as the ‘Molassis basin?
Mizoram

Manipur

Nagaland

Meghalaya

In which of the following architectural styles were the monasteries of Nalanda built?
Rashtrakuta

Kushana

Chola

Mauryan

Which of the following forts was built by a king named- Suraj Sen (of the Sakarwar clan of Rajputs) in the 3rd a..-e.ﬁtury.r CE?
Chittorgarh Fort

Amer Fort

Gwalior Fort

Fatehpur Sikri

How many categories of diseases does the Atal-Amrit Abhiyan cover?
7
4
5
-]
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|Q.N0: 110 _ was the first bank in India to issue masala bonds.
A HDFC

B SBI

|c IcICI

D Kotak Mahindra

iQ.Na: 111 In 2022 Delhi Lisutenant Governor VK Saxena had approved the proposal of setting up how many Zila Sainik Boards in Delhi?
| A 12
|B 10

C

D

|Q.N0: 112 Which of the following state has become the first state in the country to bring out an Elephant Death Audit Framework?

A Tamil Nadu
! B Rajasthan
C Karnataka
| ] Himachal Pradesh

|Q.No: 113 When is World Health Day celebrated?

| A December 10
I B June 5

c April 7

D October 2

iQ.No: 114 Which is the earliest form of dance which forms the basis of all stylised dances in Manipur?

A Ras

| B Thang-ta

| c Dhola Cholam
D Lai Haraoba

|Q.No: 115 What is G, as it relates to gravity?

| A Gravitational force
| B Acceleration due to gravity
|C Gravitational attraction

D Gravitational constant
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|Q.ND: 116 Who is the founder of students educational and cultural movement of ladakh (SECMOL) ?

[a Baba Amte

B Sonam Wangchuk
iC Chewang Norfel
|D Rajendra Singh

iQ.No: 117 Which of the following are the uses of hydrochloric acid 7

A Soaps and detergents
| B De greasing soaps

c Cleaning steel
1) Paper making

|Q.No: 118 Who out of the following had coined the term ‘ecosystem?

(A Eugene Qdum
B Harry Godwin
G Eugenius Warming
D A.G. Tansley

|Q.Na: 119 When pressure on piece of ice is increases, It's melting point :

| A Changed by some factor
|B Remains unchanged
| [ Increases

D Decreases

Familles are characterised on the basis of:
Q.No: 120 1. Vegetative features of plant species

2. Reproductive feature of plant species

| A 2 anly

1 only

Both 1 and 2
|D Neither 1 nor 2

iQ.Na: 121 Which of the following Is a scalar quantity?

|A Force
B Temperature
| & Displacement
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1)

|Q.No:

|Q.No:

|A
B

| Q.No:

|C
D

| Q.No:
A
|B
|C
D
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122

1123

124

125

126

127

Velocity

Sponges are most accurately described as
Chemoautrophs

Freshwater scavengers

Filter feeders

Marine predators

Which of the following vitamin deficiency causes Beriberi?
Vitamin B12

Vitamin B1

Vitamin B2

Vitamin B6

Which of the following is a fodder crop?
Castor

Sesame

Oats

Lentil

Which of the following is a gas giant?
Mercury

Venus

Mars

Jupiter

Which type of food is known as energy giving food?
Protein

Carbohydrates, fats

Vitamin

Lipid and protein

How much MLD of untreated water flows into the Yamuna River each day on averaga?

2300MLD
1225MLD
925MLD

4928MLD
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|Q.No: 128
A
I
lc
|D

|Q.No: 129
A
B
C
D

|Q.No: 130
A
B
c
|D

|Q.No: 131
A
le
c
|D

|Q.No: 132
A
B
lc
D

|Q.No: 133
A
B
|c
D

The ultrasound equipment works at frequencies higher than -
20,000 Hz

3,00,000 Hz

40,000 Hz

60,000 Hz

When creating a hierarchical structural folder, which of the fallowing may be contained in another folder?
Tiered folder

Folder

Sub-folder

Object

Which of the following is the name of the software /hardware that permits communication between user and computer?
Monitor

User integration

User Interface

Printer

Mac OS is an operating system. Which of the following is the creator?
Clones

Macinthos

Apple

Linux family

Al the time of installation, which drive are usually partitioned?

D

F
E
c

Which of the following is NOT a locator device?
Touch screen

Joystick

Digitising tablet

Trackball
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|Q.No: 134
| A
B
C
|D

|Q.No: 135
|A
|B
C
|D

Q.No: 136

A
|B

c
D

|Q.No: 137
A
B
C
D

|Q.No: 138
|A
le
|&
D

|Q.No: 139
|A
|B
C
D

What does the phrase IPvd mean?
Internet Programming Version 4
Internet Protocol Version 4
International Programming Version 4

Internet Program Version 4

The Arithmetic Logic Unit and the Control Unit of a computer system are jointly known as which of the following?
Collecting Processing Unit (CPU)

All Processing Unit (APU)

Central Processing Unit (CPU)

Call Processing Unit (CPU)

A combination of Letters, numbers and special characters used to access a computer system is referred to as which of the
following?

Active number
Vaccine
Password

Code number

Which flag identifies the quantity of one bit produced by an operation?
Carry

Zero

Parity

Auxiliary

Office Automation Package includes the following applications.
MS Excel

MS PowerPoint

MS Word

All of the given options

With respect to computer, what is the full form of WMV?
Write Many Video

Window Many Video

Window Media Video

Window Media Visual
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|Q.No: 140
| A
|B

|Q.No: 141

|Q.No: 142

Q.No: 143

B
s

|Q.No: 144
|
B
c
|p

|Q.No: 145

Which of the following is not an application software?
Word Processing

Desktop publishing

Unix

Spreadsheet

In M.S Access which of the following is a/an basic building block of a macro?
Command

Function

Expresion

Action

Aln) search begins the search with the first array element.
parallel

random

binary

serial

Choose the choice that s related to the third term in the same way that the second term is related to the first term.

RIXU : ZANB :: PITP : ?
XZIwW

ITIE

IWXZ

JWPR

If “ICECREAM” is coded as "JEFESGBO" and "MAGGIE" is coded as "NCHIIG" then what will be code of "CINEMA".
DKGONC
DKOGCN
DKOGNC
KDOGNC

What comes in place of {?) in the figures given below.
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RIXU : ZANB :: PITP : 7
XZIwW

JTIE

IWXZ

JWPR

I “ICECREAM" &) "JEFESGBO” 3l “MAGGIE” B "NCHIIG" & w0 F wifza o Smar 2, & "CINEMA” 1 1 71 i
DKGONC
DKOGCN
DKOGNC
KDOGNC

T & T et | (?) F WE W F ST
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21 Ah 23|26

\32-I A1 G676 | 7 24141 676 | 7

7
1<
e
b2
o

A 484 484

B 529 529
|C 729 729
|D 441 441

| | f y h s ; is Sujit’ f
‘Q.NO: 146 In a class of 40 children, Sunetra's rank is eighth from the top. Sujit is five ranks below Sunetra. What is Sujit's rank from the 40 T 9 U5 BT, T 1A SR Y e 2 w6, T A U e AR 2R Y e 9w e i

bottom?
|A 22 22
|B 24 24
C 28 28
D 20 20
Find the missing letters in the following series. - FrfafEm e & gw ser @ stk
Q.No: 147
EV, GT, IR, KP ? EV, GT, IR, KPR, ?
|A KM KM
|B NN NN
c MN MN
D LM LM
A series Is given with one term missing. Select the correct alternative from the given ones that will compl.ete theseries.  |@® SFTPH R o 8, formif T < %I g 1 faeedi A & 76 w61 ey T, W AEH &R B
QMo 148 RA, JF, BK, TP, LU, ? |RA, JF, BK, TP, LU, ?
|A RX | RX
B Qv Qv
[ bz bz
|D TZ -

Kornal drives 5 km towards north from point A. She takes a right turn and drives 5 km more. She again takes a right turn and ~ ®Wd f9g A ¥ 3R &1 3R 5 i g1ga w30 €1 98 o 0 € 9 5 Bl 2w grea = 81 78 i 3 o aedt © ol s fadi
Q.No: 149 drives 5 km. Finally, she takes one more right turn and drives 10 km te reach peint B. How far and towards which direction T @ 3R o7 gE ¢ ok g B 7% s F R 10 el grea et 81 Rig A W B § o & R 9 e g ok e R

should she drive to reach point A again? = =fge?
|A 15 km towards north 15 foft e &t ofiw
|B 8 km towards west 8 forvlt wfdm =t ofie
c 10 km towards south 10 fedt gfior 2 i
D 5 km towards east 5 fadt ‘Efﬂﬁ‘ I
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o9 Uy ¥ qd 7 omafy oo o O I@1 31 od: U STf &9 A6] Bt o1 wH

|Q.No: 150 Find the odd one out from the given alternatives. few o Reed § & fawg 58
A Leopard dgar
|B Fox wt
c Wildcat Bl
|D Tiger TR
Find out the wrong term from the given alphabet series. 1 175 quiATen e § e U g i)
Q.No: 151
BZA DYC BZD HWG BZA DYC BZD HWG VI

A BZD BZD

B BZA BZA

|c pYC pYc

|D HWG HWG

& Ffim T WM H, “All The Best’ &1 'ka Na Sa’ & &¢
: ; ) . - . ; o ; . ’ ; . ; . . 'Good Better Best' &1 'La Na Ma" % &0 ¥ féran @imar &

Q.No: 152 In a certain code language, “All The Best’ is written as ‘ka MNa Sa’. 'Good Better Best’ is written as ‘La Na Ma’, 'All Is Good' Is written as 'Sa Ma Ja’ How will ‘Good’ be written as in that language? "All 1s Good" 1 'Sa Ma Ja* 3 =7 & fra s 31
| A1 31 e | *Good* F H fore |gm?

A Ma Ma

B Sa Sa

|C Ja Ja

|p La La

|Q.Na: 153 Find the odd one out: e =

A IGRO IGRO

|B EMIZ EMIZ

lc CHFP CHFP

|D BLDX BLDX

|Q.Na: 154 If‘“+’ means *—’, "x' means “*', = means *“+’, and '—' means *x*, then 76 + 24+ 30 —2=7 gfg <+ P 3l —, e Py 3 | 3f v, 3R — P 3nf o W76+24+30 —2=2
| 45 as

|B 20 20

[ 40 40

|D 33 33

|Q.No: 155 1In the following figure, enter the omitted number in place of question mark (7). Frafafaa srefa 1, wy g (7) ¥ s W g e wa ik
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Q.No: 156

| Q.No: 157
A
B
lc
|D

Q.No: 158
|A
I
c
D

‘Q.Na: 159

|Q.No: 160
A

45

D
kS

104
305

Amrit ranks 20% from the top in class, while Ulkit ranks 15% from the bottom in the class. There is
a gap of exactly seven persons between Amrit and Ulkit where Amrit performs better than Ulkit.
What is the total number of students in the class?

42

40

48
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=D
Ran

104
305

33 F A FHW Y 2041 ¥ W 8, el Sferd wa H A B 159 W) s 3 Saled ¥ dia dis Wi el @ oft
Sfewd ¥ A vaxf S &) e # TEl Bl $u ven e

4z
a0
ag
45

The product of two successive numbers is 3306. Which is the greater of the two numbers?
52
58
50
49

A student rides on bicycle at B km/h and reaches his school 2.5 minutes late. The next day he increases his speed to 10 km/h
and reaches school 5 minutes early. How far is the school from his house?

4/5 km
8 km

5 km
10 km

A and B working together take 8 days and 18 days less than A alone and B alone respectively to do a work. The number of days
taken by A and B together to do the half of the work is:

7
12
10
6

Which of the following Is not a perfect square?

324
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& A Wenail &1 qUEEE 3306 B S enel # @ 3 W den a8
52
58
50
49

Eﬁmsﬁﬁ;ﬁﬁnﬁﬁmﬁm%aﬁté,sWhamwuﬂwm 3fTel fe 9@ o if Tgrat 10 fry
e & da § o 5 e UEd we oY 9 ) 9uE WE wa el g e

4/5 it
8 fmdt
5 Rrdt
10 foft

A 3% B T W4 T T §Y, A TN 3 S B N o o e TR S www s R iR s A wn v 0 €, due W
I TP T ST T R e & forg R @t e B

T
12
10
6

fFmfefes # 4 #19 oF oo af et &2
324
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|B
c
|D

Q.No: 161

o N @ >

Q.No: 162

|Q.No: 163
(A
B
|c
D

|Q.No: 164

Q.No: 165
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361
279
441

Solve:

{897 +3+26x 3.9-2654 of 4+ [63.5+ 5+ 22.8 0of 9.9 - 599.9 + 9 + (505.51 of 23.7 - 436.21 of 46.7)]}
8029.49

8049.22

8§329.22

-8329.22

When x is subtracted from each of 21, 22, 60 and 64, the number so abtained, in this order, are in proportion, What is the mean

proportional between (x + 1) and (7x + 8)7
i8
27
24
21

Thevalueof : 5B+ (7.4+3.7x5)=-6x2+ 25
9

11

10

12

What is the value of x so that the seven digit number 8439x53 is divisible by 597
4

[
3
9

A student finds the average of ten 2 digit numbers., While copying numbers, by mistake, he writes one number with its digits
interchanged. As a result his answer is 2.7 less than the correct answer. The difference of the digit of the number, in which he

made mistake is:

W N
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361
279
441

EnET

{89.7 +3+26x39-4FP12654 + [63.5+5+9.9F22.8-999.9 +9 + (23.7 F1 505.51 - 46.7 H1 436.21)]}
8029.49

8049.22

8329.22

-8329.22

afE 21, 22, 60 o 64 B, WHF W x TeH W6 2 @ 39 HH  ung e eungE d ¥ (x + 1) 97 (7x + 8) F ¥ Aarg
proportional & gm?

i8
27
24
21

5.8+ (7.4 +3.7x5)=6x2+2.5 MAAE:
9

11

10

12

x % R B & 0 91 T ST 843953, HET 99 A e &7
4

6
3
9

T O 2 areh g8 e o a3 e 1 aig § e g, B 3f & ew Rl den ¥ o e # aga o ¥ e
ufeons, T oiomE & 2.7 F9 o ) WEn & S T oiaw 7 Sy, Bl aR ghz de

& W Now;m
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Q.No: 166

A
B
C
D

Q.No: 167

A
|B
|c
D

‘Q.No: 168

A
|B
|C

D

| Q.No: 169
A
B
c

D

Q.No: 170

A
B
|C

D
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An overall profit of 25.5% is to be made from the sale of two products. One of them was sold at a loss of 8.5%. At what profit
percentage should the second product be sold, given that the cost prices of the first and the second products are in the ratio

3:5?

53.6%
51.4%
47.2%

45.9%

What value would come in place of the question mark (?) in the following equation?
30 % of 470 + 24 % of 250 — 45 % of 260=1/7

7056
6576
7126
6946

If the sides of a parallelogram are increased to twice its original lengths, how much will the perimeter of the new
parallelogram?

4 times
3 times
5times

2 times

Find the area of a triangle whose sides are 28 cm, 21 cm, and 35 cm?

205 em?
200 cm?
258 em?

294 cm?

Two men are standing on opposite ends of a bridge 1800 metre long. If they walk towards each other at the rate of &

metre per minute. and 12 metre per minute, respectively, In how much time will they meet each other 7
100 minute

120 minute

60 minute

90 minute
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25.59% 1 Fa @4 3 IR B R A w9 € 390 A U 1 8.5% 3 g WS n g6 Sae & e ukee
1w, R UEd AR gHY Sae! F arE P10 30 5 F U H 7

53.6%

51.4%

47.2%

45.9%

Frofaféa wdiew & usares frg (7) & w0 o 08 e

A70TFT 30 % + 250FT 24 % — 260%T 45 %=+/?

7056
6576
7126
6946

|
| af u TwieR g B el B Iue TE g ¥ <n S fom e, & A s agids o o e g

4T
3T
5 T
27

T (IS BT & T S e yet 28 T, 21 3 o 35 S E
2
1205 IHI

z
200 SHI
2
258 TH
2
294 9T

= 1800 et d U9 & 59T 81 W ES € ot § U 9T 9 90 B0 6 TR Ul fire ok 12 e uf fim
‘zl?g?laﬁmﬁwﬁ%gwﬁﬁﬁﬁ? W

100 fire
120 fiFe
60 firre
a0 fire
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| Q.No:
[A
B
|c
D

iQ.No:

| Q.No:

|Q.Na:

| Q.No:
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171 Fefafem # § TR 31 T5d T 70 g
Fiili
EiErd
EilEd
R

172 e A @ frw w1 R Rl 1wt wim gen &
Wdtw i aelt G ae ofR) e g e )
wdty & et : S T ofi e wE e
W, @t ool 26, 7=t o Faw, g R
widhy 9t uelt, S o o ey pE e f

173 Fefafea & § w9 e g0 w1 6 &1 6l S &
H=
wnfy
TNy
FTeomad

174 FEfiEs # 3 $19-T1 Tsg SHURT TG F T T T 87
THRHEHI
g
T
dtearen

175 Fefafea § 8 we & g wuad) &1 =0 k-
witatda
vt

Sy
Sttt

176 FfafEs v 1 uie &y T T §) 3 39 We meg S 6 30w oyl oitels 7 Wi, iR 99 ag BT e et 7 9w s @1 aue &1

A TE T WEY § o 78 ot 76 @ e

& o P v affires wee, R SR ofted ERt T
C 9% 9% for gd g2 o fagr € awerd 81

D B i @ e argyfed @
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| E ¥ 95 TWe & A1fet b e
[A BDACE
|B ABDCE
C EDABC
D CDBAE

|Q.No: 177 werll & G=aror e ot el 9, B 3§ 3 sl wierl %1 =0 #ifee-

[A "en, v, e
B g, e,
|c WA o
D e G . [

|Q.No: 178 " 93" %1 9ga9 T e H | 70 e

(A awgait
B g
|c T
D TRt

|Q.No: 179 af2 @ drgen Al guen e @ B @ @ e b

A FFETG AP

B TR T

|c HHIRY YT

D 1l T | N 4

| Q.No: 180 Fm ¥ & ST SfEor IR e W W P

A af?, &, gey, quf
B s, S A

|€ srufa, wrRt, @iy

D afg, 5, ot 5, wife

|Q.No: 181 Fymfafea 13 frg ama & SuEive oo o1 W w67

(A W agw aiel 81

|B FAR WA et S o
lc FVET SITRY = |

D ugt & afémn & o araa 1

|Q.No: 182 Frefefia # @ fa defa @ o A g R e ¥
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A SHfre T e g A R

B A fird o= 1 wd v A dig 7 T

c s et w1 g el @t

|p farafar & g Premft e o wm @ e #)

|Q.No: 183 P 4 & RsmaRaius B &1 907 FIR-

[A El
B BHE
lc Lol
|D |

|Q.No: 184 T=R F1 € § Pi1-T1 e Iered Ser H1 e A 87

|A e T e
B T, T, e, g e alte
lc e

D g

|Q.No: 185 Frfiiaa we-wg # & wih-m R v 2w = Wi gewm §

A A,

le gof, ditaren
|€ Frawvs, T
|p T, R

In the guestion below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical order of sentences from among the options.

P. Instead it has left this impertant provision open ended.
Q.No: 186
Q. The union Labour ministry has stayed away from making it part of the wage code bill.

R. India will not have a single mandatory minimum wage floor as talked earlier.

5. The labour ministry's decision comes following criticism that its national floor is less than half of what was suggested by an internal committee.

QRPS

RQPS
le QRSP
(D SPRQ

Q.No: 187 Identify the segment that contains a grammatical error, If there is no error, select 'No error'.

1 was at a party with some off my friends in Mumbai.
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|A I was at a party

B with some off my
|c friends in Mumbal.

D No error.

Find the most appropriate option for the given blank space which makes the given sentence grammatically and contextually correct.

Q.No: 188
Kanika came back from her school a while
A ago
|B inside
|C along
D around
Select the most appropriate meaning of the given idiom.
Q.No: 189
Bury the hatchet.
A To make secret preparations to attack
i B To change the plans.
|c To hide something controversial.
D To settle disputes.
Identify the segment in the sentence which contains the grammatical error from the given optic-ms,
Q.No: 190
Seeds of mustard plants give us oil, and the leave are used as a vegetable,
A as a vegetable
B leave are used
= give us oil
|D Seeds of
Select the most appropriate antonym of the given word.
Q.No: 191
HIDEOUS
!A Disgusting
B Ghastly
|C Shocking
D Attractive

'Q.Na: 192 Select the most appropriate synonym of the given word.
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| Encumbrance
A Obstacle
Stimulant
i C Destroy
D Despair

In the below question, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences and choose the option that provides the correct final order.

P. Such a man was too good to lose.

RHIERR Q. He was promptly appointed superintendent at two hundred dollars a month, and from that hour his fortune was made.
R. At once he set to work to make improvermnents on the machines used in this and similar offices.
S. These improvements he offered for sale, hoping to get a few thousand dollars out of them.
A PRQS
|B QPRS
e QSRP
D PQRS
Select the most appropriate word for the given group of words. _
Q.No: 194
Made in imitation so as to be passed off fraudulently as genuine.
|A Staunch.
B Counterfeit.
|c Authentic.
D Deliberate.
In the below question, sentence/passage is split into Fo? p;n's a-nd-ﬁ;'led P: Q,R&S. ‘i'-l1es; four parts ;re ;wt given i;th-;r proper or'd;r. ;ea;i- t;'l-e sen-.te;ce;;assage;nd-ﬂnd ;ut which of the four combinations is correct.
P. But he couldn't possibly tell his mother all that!
Q.No: 195
Q. So he sank into silence once more and began to think hard about all the suspects.
R. The boy didn't answer.
S. He knew a lot about the case, and he meant to meddle in it for all he was worth, and it he could annoy Mr. Goon he was certainly going to.
A RQSP
B PQRS
C RSPQ
|p PRQS

Q.No: 196 Select the synonym of the given word.
Deceptive
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A

Q.No: 197

B

D

Q.No: 198

|A

D

|Q.No: 199

Q.No: 200

Conventional
Misleading
Esteemed

Biased

Select the most appropriate option to fill in the blank.

The Intergovernmental Panel on Climate Change (IPCC)
introduced

wounded

shortened

withdrawn

Select the most appropriate antonym of the given word.
Vivacious

Dearth

Adorable

Lethargic

Affable

Select the correctly spelt word.
Deceive

Appearence

Exceptionale

Mortle
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the idea of "tipping points” two decades ago.

& MPESE, Al rights reserved

In the following question, a part of the sentence may contain an error. Identify the part that contains the error and select it as your answer. If the sentence is free from error, select 'No error’.

If professional help is sought in time, a person addicted with drugs and alcohol has a greater chance of recovering fully.

If professional help is sought in time,
No error
has a greater chance of recovering fully.

a person addicted with drugs and alcohol
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